Precal Matters WS 1.2: Factoring Exps & Eqs

Name ‘{< g 7& Date Period

Worksheet 1.2—Factoring with Expressions & Equations

Show all work. Give simplified, exact values for all answers. No Calculator
I. Multiple Choice

A 1. Which of the following equations is a solution to the equation x(x + l) =07?
(A) x=0,-1 (B) x=0,1 (C)x=—-lonly (D)x=0only (E)x=1 only

x(x+)= o
v =0 ar X+|=0
X=o oc X= -)
2. Which of the following represents an equation equivalent to the equation ?x + % = %— 3 that is

cleared of fractions?

Lem

=(X _ é
(A) 2x+1=x—-1  (B) 8x+6=3x—4 (C)4x+3=%x—2 /z@"“%’@ L)

(D) 4x+3=3x—4  (E) 4x+6=3x—4 pr+=3xt

i 3. Which of the following is the complete factorization of 12x+2x> —54
(A) 2(x+9)(x—3) (B) 2(x—3)(x—9) (©) (x+6)(2x—9) (D) (2x+6)(x—9) (E) Prime
)2y +2X-5%
ZXL—HZ)(—Sl?'
2 (\["A—ésé' f’%
2 (x+9)(* -

C/ 4. What is a common factor of xZ—9 and x?+x—6?
(A) x-3 (B) x? (C) x+3 (D) x-2 (E) no common factor

x- 9 ek~
()(/’5)()(4'3) {X-v—%)(x—z)

;0/)4+3 IS & Common Hacher
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D 5. In the equation 8m+2=4m—-10, m=
(A1 B) -1 ©)3

8m+2=7w|—/0

dp= =12
m=->

B 6. Factor completely: x> +7x? —7x—49

@) (X +7)(x=7) B (x+7)(x*-7)

T - T~
(C+¥)* (-3 —49)

xt(x e -
(% 4—'-;)(7-1- ":B

(D) -3

(E) no solution

WS 1.2: Factoring Exps & Eqs

(C) (x* +1)(x—49)
(D) (x2 +49)(x—1) (E) (x+7)(x3 —7x)

E 7. Which of the following gives the complete factorization of 23x% —8x +3x°

(A) x(3x+1)(x—38) (B) (3x—8)(x+1)

(D) x(3x—1)(x—8) (E) x(3x—1)(x+8)
22— BX X

2 23— BY
x(3y1'+23%”3>

X (352 — 1Yx + 8)

(©) (3x—1)(x+8)

C 8. The sum of twice an unknown, x, times itself added to seven times that unknown is —3. Which
of the following could be the value of the unknown x?

(A) =2 (B) 2 (C) -3

Ty K+Fe="7
2y +FXTET O
(i + | Yx +3)=0

=3
Zyal =0 »f X+

=y or «=-3
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Use the following picture below to help answer questions 9 & 10. Each question is separate and unrelated
to each other.

0
i 9. The volume, V, of the rectangular prism shown is given by V' (x)= 2x° —10x? +12x. If one
side’s length is given by x, which expression could be the product of the remaining two sides?
(A) (x+2)(2x-6) B) (x+2)(x—-3) (C) (x—2)(x-3)
(D) (2x—-4)(x-3) (E) (2x—4)(2x-6)
V"«@WI’\':Y-"P , where P—'—lw
2¢—x +lzx = Px P [7_6(_3)]()(,7)

X(Z)ZL—-ID; 4—/22 = Py, _ (54,03;-C’2_(\< __7_51
So P = Zx —PLH-
- Z(Y:L—%u—@\ ?: (ZX—(Q (X'z>
S (x~3)(2»<—@

/D 10. The Surface area, S, of a similar (but different) rectangular prism as in Problem 9 is equal to
90 cm? and given by the function S (x)=22x*+2x—2. If one of the side lengths is given by x

cm, what is the length of this side?
(A) % cm (B) 1 cm © % cm (D)2 cm (E)3cm

.
229 +2x -2 =70
22% +2x—92=06
z(’lxi""(—%>—_o
2 (I +13)(x- 2)=°

— - -2 =90
llge23=0 7 %

I1. Short Answer x=-2 x=zem
Cvunreﬁonab/e
11. Solve the following equations for the indicated variable. Show all steps.
(a) 3(52-3)—4(2z+1) =522 ) %Jr%:% »
162 -9-B2 -4~ 52 -2 f
- £+5 - _ /LU )
Z2Z=1| l%( g T = (3 4

C DL +5) + 12(k-D= D

3L 415 +12£-2%4=8

15¢ = [+
t=3
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12. Solve each quadratic equation for the indicated variable using the indicated method.

(a) 4x* +3=8x (b) 4x* =25 (c) x(3x+11):20 (d) 7x=—5x2
"/)LL—&X +3=0o = z__ij_ (3\[‘1 :xx—zos-)o_ 5};1+?—>;)=—oo
—3) ”)=° = Ix — x + =0 v (5% + D=
(ZX —> 2): 2x-l=2 = t\]? -z o X*ETE k=0 or Gy +F=0
2y -3=0 ©° . X——:L - e - o

Xx=t3 > X=6 or X

\
K"% or X=7Z

13. The area of a rectangle is given by the expression 6x%+x—1. If the width of the rectangle is 2 units,
then in terms of x, what is the simplified, expanded expression for the perimeter of this rectangle?

f/w—z/*\hl \ae_rimeﬂ-e\r:
P=2(4+w)

Aren. A=fw= byt +X~ |

<
—I
- =g (et )
=5 F oo
for w=2

Ly
Po (o)
F = et x—1 +4
pP-= by +x+3
S, 'I’(%>= by +x+3 (Of F(X) :"AV(X}"'LD
14. Literal Equation: A literal equation is an equation that has several letters as variables representing

quantities. These formulas, as they’re also called, can be manipulated to solve for any unknown.
Solve each of the following literal equations for the indicated variable.

() 5am* =bm for m#0 (b) g+ag—bg—c=d for ¢q
5am1_’f>m=o _ :0{4—
m(5olm—-b)'-o CFF?Z/ 52:)__&“’2
Sp, m =0 ov Cam-b=0 Fllras
7
(%75‘03 o, Sam =b %: ﬂ_’

/+a-b
M= G
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